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N AT 4L
= 1 18, 946, 041
N AT T AR L
= 1 18, 946, 041
KHIN AT T4 65 EIEES RALKE
m 157 48, 631 7,635, 067
-9 - E 2wy B A R




NN /2

il

*

[8) HERAEREME =) BSR4

THEXSy « T - FER - 5 B % LFEAL B G EHAMm & H T2 (BB

KHIN AT T4 2LIX VP®T5

m 22 22,037 484, 814
KHIN AT T4 2LIX VP®50

m 16 28, 158 450, 528
KHIN AT T4 2T fakkeiE

AT 11 26, 872 295, 592
KHIN AT T4 4K VP®50

m 12 37, 799 453, 588
KHIN AT T4 ITX ®350

m 38 73,796 2,804, 248
TN AT TR 1 LXK

T 1 6, 822, 204 6, 822, 204

Bl st L
= 1 7,022, 550
[ A T

= 1 7,022, 550
T ny), S SR T 1 > 7 200x200x450

B 154 4, 130 636, 020
T ny), S SR T 1w 7 400x400x600

H 2 19, 408 38, 816
T ny), S SR T 1 > 7 200x200x200

H 1 7,793 7,793
A8 - SRE (ST B 1A H=1. 8m S AERIFFH2m

m 295 20,914 6, 169, 630
PR iBH & H=1.8m W=3.0m

H 1 170, 291 170, 291

INS VUL
= 1 14, 431, 870
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NAWA

il

*

[8) HERAEREME =) BSR4

THEXSy « T - FER - 5 ps2) FREAL K B G EHAMm & M| TZ (BB
JRBSLERERE T
= 1 14, 431, 870
I AL ER
=X 0 0
I AL ER
= 1 14, 431, 870
A L
= 1 1, 575, 222
{RAAE L
= 1 1, 575, 222
IR AAT AR RO A
= 1 1, 575, 222
G an
= 1 1, 981, 696
RME T
= 1 1, 981, 696
ARIE G B
A
AH 62 16, 200 1, 004, 400
ARG B
B
AH 68 14, 372 977, 296
[EEPIE % ¢
= 1 126, 025, 172
B:SElTE
= 1 13,212, 361
B3 TS
= 1 5,302, 212
TR
= 1 1, 160, 539

- 11 -

(] - xzid BE A T i




[8) HERAEREME =) BSR4

HOfl =%

THEXSy « T - FER - 5 B % FREAL K B G EHAMm & M| TZ (BB
R R JRMEER AR AfiBh AR
5 1 402, 942 402, 942
RN S
= 1 757, 597
AR ICR I f R
= 1 594, 820
FERAEE
= 1 594, 820
= 1 55, 644
1&g}
= 1 55, 644
s g
= 1 1, 045, 732
BE R IR R
= 1 1, 045, 732
(g
= 1 1,272, 147
StlviZ
= 1 1,272, 147
B REsET (K3 L)
= 1 1,173,330
HIBGERE (FEH L)
= 1 7,910, 149
Wi
= 1 139, 237, 533
s
= 1 46, 857, 443

- 12 - (] - xzid BE A T i



[8) HERAEREME =) BSR4

HOfl =%

THEXSy « T - FER - 5 B % FREAL K B G EHAMm & M| TZ (BB
T AT

= 1 306, 986, 122
— R

= 1 44, 413, 878
TS

= 1 351, 400, 000
THE BRI Y %H

= 1 35, 140, 000
TH#&G

= 1 386, 540, 000

- 13 - (] - xzid BE A T i



[B) HERBEGER ) HERELHARE ]

HOfl =%

THEXSy « T - FER - 5 B % FREAL K B G EHAMm & M| T2 (BB
T AR
REAYBP
= 1 28, 430, 371
BRET
= 1 24, 443, 243
T B T
= 1 24, 443, 243
TR (A FERBREE (O M A0 ) +H4E 25
m2 280, 000 41. 96 11, 748, 800
TR (A FERR bR OF #h o =0) +4E 55 [é
ML
m2 60, 300 91.41 5,512, 023
TR (EA) FERR bR OF #h =0) +4E 55 [é
HY
m2 69, 800 102.9 7,182, 420
BT
=X 0 0
Bty )b 1
=X 0 0
Bl &y ) -} 18-8-25 (20) &b W/CHREMEL t=
70mm
m2 0 1,958 0
RS FELE)T9v45/40~0 BUE 0. 1m
m2 0 1, 169 0
NSV UEL N
= 1 2,569, 848
JRBSLEREE T
= 1 2,569, 848
I AL ER
=X 0 0
I AL ER
= 1 2,569, 848

- 14 - Ao BE A5 2 i =
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il

*

[H) HERBEGER ) HEREATAGS

THEXSy « T - FER - 5 ps2) FREAL K B G EHAMm & M| TZ (BB
G an
= 1 1,417, 280
ARME T
= 1 1,417, 280
ARIE G B
A
AH 52 16, 200 842, 400
AW B
B
AH 40 14, 372 574, 880
[EEPIE % ¢
= 1 28, 430, 371
MR
= 1 3, 150, 627
HIBGERE
= 1 360, 729
BIGREsET (K3 L)
= 1 360, 729
HIBGERE (FEH L)
= 1 2, 789, 898
Wi
= 1 31, 580, 998
s
= 1 13, 141, 689
T AT
= 1 44, 722, 687
- 15 - E hzzim B SH A R




NAWA

il

*

[B) HERBEGER %) HEREATHARE

]

THEXSy « T - FER - 5 B % LFEAL B G EHAMm & H T2 (BB
T AR
TEABP - FEbiEK
= 1 50, 859, 056
R T
= 1 13, 176, 886
IR EAERHT
= 1 13, 176, 886
AT AE #[E]120cmbk_F180cmA AR
TE HI - Sm A
%N 47 102, 582 4, 821, 354
AT AE #[E]120cmbk_F180cmA AR
SEAR ML
%N 8 136, 429 1,091, 432
AT AE #[E]180cmbk_F240cmA AR
SEAREEmEL
%N 16 252, 854 4, 045, 664
TR AR AE
m3 414 7,774 3,218, 436
BRET
= 1 32, 566, 047
T B T
= 1 32, 566, 047
TR (EA) FERBREL (A0 ) +H 425
m2 440, 400 41. 96 18, 479, 184
TR (A FERR bR OF #h =0) +4E 55 [aé
ML
m2 83, 300 91.41 7,614, 453
TR (EA) FERR bR OF #h o =0) +4E 55 [é
HY
m2 62, 900 102.9 6,472, 410
BT
=X 0 0
Bty ))—-h 1
Y 0 0

- 16 -

Ao BE A5 2 i =



[B) HERBEAEH X)) HERESTHARSE
NN /2
fili 3=
THEXSy « T - FER - 5 B % FREAL K B G EHAMm & M| TZ (BB
i &Ly ) -} 18-8-25 (20) dF W/CHREMEL t=
70mm
m2 0 1,958 0
RS FLE)T9v4T/40~0 BUE 0. 1m
m2 0 1, 169 0
INS VUL
= 1 3, 164, 747
JRRSLERERE T
= 1 3, 164, 747
I AL ER
=X 0 0
I AL ER
= 1 3, 164, 747
G an
= 1 1,951, 376
RME T
= 1 1,951, 376
ARIE G B
A
AH 69 16, 200 1,117, 800
ARG B
B
AH 58 14, 372 833,576
[EEPIE % ¢
= 1 50, 859, 056
MR
= 1 4,529, 267
IR
= 1 555, 485
BIGmEsET (K3 L)
= 1 555, 485
- 17 - E hzzim B SH A R




[B) HERBEGER ) HERELHARE ]

HOfl =%

THEXSy « T - FER - 5 B % FREAL K B G EHAMm & M| TZ (BB
MR E (FE L)
= 1 3,973,782
Wi
= 1 55, 388, 323
B
= 1 20, 526, 095
T AT
= 1 75,914, 418

- 18 - (] - xzid BE A T i



HOfl =%

THEXSy « T - FER - 5 B % FREAL K B G EHAMm & M| TZ (BB
T AR
= 1 121, 647
INS YU
= 1 121, 647
JRBSLERERE T
= 1 121, 647
BRa
= 1 121, 647
[EEPIE % ¢
= 1 121, 647
B
= 1 33,578
HIBGERE
= 1 3, 837
BIGREsET (K3 L)
= 1 3, 837
HIBGERE (FEH L)
= 1 29, 741
Wi
= 1 155, 225
s
= 1 98, 816
T AT
= 1 254, 041
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